CITY OF KENT Earthworks Park Dam Improvements	BIDDER'S	Pivetta Brothers Constr	uction. Inc	SCI Infrastructure, LLC		3 Construct Co.		Advanced Construction	Inc
BID OPENING: Tues., April 22, 2008	NAME AND	P.O. BOX 370		1508 Valentine Ave. SE		1621 Pease Avenue		4640 Campus Pl. #150	
515 Of ENTITIO. 1463., April 22, 2000	ADDRESS	Sumner, WA 98390		Pacific, WA 98047		Sumner, WA 98390		Mukilteo, WA 98275	
	ABBILLOO	Summer, W/X 70070		racine, W/C 700 T/		Summer, W/C 70070		Wakited, W/1 70270	
	TOTAL		\$785,459.45		\$818,101.68		\$820,491.18		\$894,018.00
TEM			TOTAL		TOTAL		TOTAL		TOTAL
O. DESCRIPTION QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
OUEDING L. OTDEET									
CHEDULE I - STREET	1.10	¢15 505 00	¢15 505 00	#/F 000 00	# /F 000 00	¢00,000,00	¢00,000,00	¢(0,000,00	# /0.000.00
1000 Mobilization	1 LS	\$15,505.00	\$15,505.00	\$65,000.00	\$65,000.00	\$80,000.00	\$80,000.00	\$60,000.00	\$60,000.00
1005 Clearing and Grubbing	1 LS	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$13,000.00	\$13,000.00	\$20,000.00	\$20,000.00
1006 Removal of Structures and Obstructions	1 LS	\$16,000.00	\$16,000.00	\$28,000.00	\$28,000.00	\$28,000.00	\$28,000.00	\$20,000.00	\$20,000.00
1010 Remove Existing Asphalt Concrete Pavement	1850 SY	\$3.00	\$5,550.00	\$8.00	\$14,800.00	\$7.50	\$13,875.00	\$25.00	\$46,250.00
1050 Saw Cut Existing Asphalt Concrete Pavement	70 LF	\$4.00	\$280.00	\$12.00	\$840.00	\$5.00	\$350.00	\$10.00	\$700.00
1065 Embankment Fill, Including Haul	1120 CY	\$20.00	\$22,400.00	\$14.00	\$15,680.00	\$44.00	\$49,280.00	\$50.00	\$56,000.00
1066 Special Embankment Fill Including Haul	300 CY	\$20.00	\$6,000.00	\$21.00	\$6,300.00	\$95.00	\$28,500.00	\$50.00	\$15,000.00
1070 Embankment Compaction	1420 CY	\$5.00	\$7,100.00	\$14.00	\$19,880.00	\$8.00	\$11,360.00	\$25.00	\$35,500.00
1075 Gravel Borrow, Including Haul and Compaction	15 TONS	\$30.00	\$450.00	\$50.00	\$750.00	\$53.00	\$795.00	\$100.00	\$1,500.00
1085 Crushed Surfacnig Base Course, 1 1/4 Inch Minus	620 TONS	\$25.00	\$15,500.00	\$29.00	\$17,980.00	\$25.00	\$15,500.00	\$30.00	\$18,600.00
1095 HMA Class 3/4", PG 64-22	610 TONS	\$99.00	\$60,390.00	\$84.00	\$51,240.00	\$96.00	\$58,560.00	\$80.00	\$48,800.00
1220 Adjust Existing Catch Basin to Finished Grade	1 EA	\$312.00	\$312.00	\$700.00	\$700.00	\$500.00	\$500.00	\$500.00	\$500.00
1225 Adjust Existing Monitoring Well to Finished Grade	3 EA	\$312.00	\$936.00	\$400.00	\$1,200.00	\$450.00	\$1,350.00	\$500.00	\$1,500.00
1245 Adjusting Existing Monument, Case and Cover to Finished Gran		\$312.00	\$936.00	\$400.00	\$1,200.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
1265 Irrigation System Repair	1 FA	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00
1270 Temporary 6' High Chain Link Fence	1520 LF	\$2.00	\$3,040.00	\$3.00	\$4,560.00	\$2.00	\$3,040.00	\$5.00	\$7,600.00
1290 Install City Supplied Fixed or Removable Bollard	2 EA	\$312.00	\$624.00	\$500.00	\$1,000.00	\$600.00	\$1,200.00	\$500.00	\$1,000.00
1299 Bollard Reinstallation	75 EA	\$312.00	\$23,400.00	\$165.00	\$12,375.00	\$200.00	\$15,000.00	\$100.00	\$7,500.00
1300 Paint Line	310 LF	\$5.00	\$1,550.00	\$4.00	\$1,240.00	\$0.22	\$68.20	\$5.00	\$1,550.00
1305 Property Restoration	1 LS	\$21,160.00	\$21,160.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
1310 Sod Installation	2420 SY	\$5.00	\$12,100.00	\$11.00	\$26,620.00	\$6.00	\$14,520.00	\$4.00	\$9,680.00
Schedule I			\$276,233.00		\$333,865.00		\$386,398.20		\$408,180.00
9.0% Sales Tax			\$24,860.97		\$30,047.85		\$34,775.84		\$36,736.20
Total Schedule I			\$301,093.97		\$363,912.85		\$421,174.04		\$444,916.20
CHEDULE IV-STORM									
4000 Outlent Works Trash Rack	1 LS	\$270,000.00	\$270,000.00	\$195,000.00	\$195,000.00	\$105,000.00	\$105,000.00	\$187,000.00	\$187,000.00
4005 Outlet Works Trash Rack Retaining Wall	1 LS	\$32,402.00	\$32,402.00	\$35,500.00	\$35,500.00	\$100,000.00	\$100,000.00	\$29,000.00	\$29,000.00
4010 In-Stream Trash Rack	1 LS	\$18,500.00	\$18,500.00	\$25,000.00	\$25,000.00	\$31,000.00	\$31,000.00	\$25,000.00	\$25,000.00
4015 PVC Storm Sewer Pipe, 12 Inch Diameter	90 LF	\$41.00	\$3,690.00	\$55.00	\$4,950.00	\$72.00	\$6,480.00	\$100.00	\$9,000.00
4025 Relief Well System	1 LS	\$38,610.00	\$38,610.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
4080 Catch Basin, Type 1	1 EA	\$850.00	\$850.00	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4085 Catch Basin, Type 2 48 Inch Diameter	2 EA	\$2,250.00	\$4,500.00	\$3,800.00	\$7,600.00	\$2,200.00	\$4,400.00	\$2,000.00	\$4,000.00
4110 Solid Locking Catch Basin Frame and Cover	1 EA	\$290.00	\$290.00	\$400.00	\$400.00	\$300.00	\$300.00	\$500.00	\$500.00
4160 Light Loose Riprap	15 TONS	\$50.00	\$750.00	\$53.00	\$795.00	\$30.00	\$450.00	\$100.00	\$1,500.00
4165 Construction Geotextile for Separation	2,000 SY	\$2.00	\$4,000.00	\$1.50	\$3,000.00	\$2.00	\$4,000.00	\$5.00	\$10,000.00
4170 Pipe Zone Bedding	50 TONS	\$30.00	\$1,500.00	\$34.00	\$1,700.00	\$48.00	\$2,400.00	\$100.00	\$5,000.00

CITY OF KENT			1	2		3		4	
Earthworks Park Dam Improvements	BIDDER'S	Pivetta Brothers Co	nstruction, Inc.	SCI Infrastructure, LLC		Construct Co.		Advanced Constructio	n Inc.
BID OPENING: Tues., April 22, 2008	NAME AN	D P.O. BOX 370		1508 Valentine Ave. SE		1621 Pease Avenue		4640 Campus Pl. #15	0
	ADDRESS	Sumner, WA 98390	0	Pacific, WA 98047		Sumner, WA 98390		Mukilteo, WA 98275	
	TOTAL		\$785,459.45		\$818,101.68		\$820,491.18		\$894,018.00
ITEM			TOTAL		TOTAL		TOTAL		TOTA
	UANTITY	UNIT UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUN
Schedule IV			\$375,092.00		\$335,045.00		\$305,030.00		\$297,000.00
9.0% Sales Tax			\$33,758.28		\$30,154.05		\$27,452.70		\$26,730.00
Total Schedule IV			\$408,850.28		\$365,199.05		\$332,482.70		\$323,730.00
SCHEDULE V - TRAFFIC CONTROL									
5005 Traffic Control Labor	320	HR \$32.00	\$10,240.00	\$42.00	\$13,440.00	\$37.00	\$11,840.00	\$50.00	\$16,000.00
5015 Traffic Control Supervisor	160				\$7,120.00	\$37.00	\$5,920.00	\$50.00	\$8,000.00
5020 Temporary Traffic Control Devices		LS \$2,250.00		\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
3020 Temporary Traine Control Devices	ı	\$2,230.00	\$2,230.00	\$5,000.00	\$3,000.00	\$5,000.00	\$3,000.00	\$10,000.00	\$10,000.00
Schedule V			\$17,610.00		\$25,560.00		\$22,760.00		\$34,000.00
9.0% Sales Tax			\$1,584.90		\$2,300.40		\$2,048.40		\$3,060.00
Total Schedule V			\$19,194.90		\$27,860.40		\$24,808.40		\$37,060.00
SCHEDULE VII - TESC									
7000 Seeding, Fertilizing, and Mulching	4840	SY \$0.50	\$2,420.00	\$0.30	\$1,452.00	\$0.70	\$3,388.00	\$3.00	\$14,520.00
7001 Topsoil Type A	290			· ·	\$9,280.00	\$40.00	\$11,600.00	\$50.00	\$14,500.00
7005 Filter Fabric Fence	700	· ·	• •	\$6.00	\$4,200.00	\$4.00	\$2,800.00	\$5.00	\$3,500.00
7010 Straw Bales for Drainage Way Barrier	10				\$1,250.00	\$200.00	\$2,000.00	\$20.00	\$200.00
7015 Inlet Protection		EA \$90.00		\$100.00	\$300.00	\$56.00	\$168.00	\$100.00	\$300.00
7020 Straw Mulch	3000			\$0.50	\$1,500.00	\$2.50	\$7,500.00	\$3.00	\$9,000.00
7025 Clear Plastic Covering	3000			\$1.20	\$3,600.00	\$0.75	\$2,250.00	\$3.00	\$9,000.00
7030 ESC Lead		DAY \$97.00		\$40.00	\$1,600.00	\$12.00	\$480.00	\$100.00	\$4,000.00
7035 Temporary Sediment Trap	1	LS \$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
7045 Geotextile Encased Check Dam	20			\$10.00	\$200.00	\$4.00	\$80.00	\$200.00	\$4,000.00
7050 Turf Mat Reinforecement	1400	SY \$5.00	\$7,000.00	\$18.00	\$25,200.00	\$2.35	\$3,290.00	\$5.00	\$7,000.00
7060 Temporary Erosion and Sediment Control (TESC) Plar	1	LS \$600.00		\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00
Schedule VII			\$51,670.00		\$56,082.00		\$38,556.00		\$81,020.00
9.0% Sales Tax			\$4,650.30		\$5,047.38		\$3,470.04		\$7,291.80
Total Schedule VII			\$56,320.30		\$61,129.38		\$42,026.04		\$88,311.80
SCHEDULE I - Street			\$301,093.97		\$363,912.85		\$421,174.04		\$444,916.20
SCHEDULE IV - Storm			\$408,850.28		\$365,199.05		\$332,482.70		\$323,730.00
SCHEDULE V- Traffic Control			\$19,194.90		\$27,860.40		\$24,808.40		\$37,060.00
SCHEDULE VII- TESC			\$56,320.30		\$61,129.38		\$42,026.04		\$88,311.80
CONSTRUCTION CONTRACT TOTAL			\$785,459.45		\$818,101.68		\$820,491.18		\$894,018.00
GRAND TOTAL			\$785,459.45		\$818,101.68		\$820,491.18		\$894,018.00

CITY OF KENT		5		6		7		8	
Earthworks Park Dam Improvements	BIDDER'S	Road Construction Nor	•			Rodarte Construction, Inc.		RW Scott Construction Co.	
BID OPENING: Tues., April 22, 2008	NAME AND	P.O. BOX 188		381 Brown Road		P.O.BOX 1875		4005 W. Valley Hwy #A	
	ADDRESS	Renton, WA 9805	F	erndale, WA 98248		Auburn, WA 98071		Auburn, WA 98001	
	TOTAL		\$921,405.34		\$934,240.09		\$984,377.91		\$1,195,370.30
TEM			TOTAL		TOTAL		TOTAL		TOTA
O. DESCRIPTION QUANTIT	Y UNIT	UNIT PRICE	AMOUNT U	INIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
CHEDULE I - STREET									
1000 Mobilization	1 LS	\$30,000.00	\$30,000.00	\$45,000.00	\$45,000.00	\$78,000.00	\$78,000.00	\$70,000.00	\$70,000.00
1005 Clearing and Grubbing	1 LS	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00
1006 Removal of Structures and Obstructions	1 LS	\$15,000.00	\$15,000.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00
1010 Remove Existing Asphalt Concrete Pavement	1850 SY	\$8.00	\$14,800.00	\$6.00	\$11,100.00	\$5.00	\$9,250.00	\$6.00	\$11,100.00
1050 Saw Cut Existing Asphalt Concrete Pavement	70 LF	\$7.00	\$490.00	\$14.00	\$980.00	\$10.00	\$700.00	\$6.00	\$420.00
1065 Embankment Fill, Including Haul	1120 CY	\$20.00	\$22,400.00	\$37.00	\$41,440.00	\$105.00	\$117,600.00	\$40.00	\$44,800.00
1066 Special Embankment Fill Including Haul	300 CY	\$37.00	\$11,100.00	\$56.00	\$16,800.00	\$105.00	\$31,500.00	\$40.00	\$12,000.00
1070 Embankment Compaction	1420 CY	\$7.00	\$9,940.00	\$25.00	\$35,500.00	\$38.00	\$53,960.00	\$10.00	\$14,200.00
1075 Gravel Borrow, Including Haul and Compaction	15 TONS	\$45.00	\$675.00	\$100.00	\$1,500.00	\$60.00	\$900.00	\$50.00	\$750.00
1085 Crushed Surfacnig Base Course, 1 1/4 Inch Minus	620 TONS	\$25.00	\$15,500.00	\$34.00	\$21,080.00	\$25.00	\$15,500.00	\$22.00	\$13,640.0
1095 HMA Class 3/4", PG 64-22	610 TONS	\$81.00	\$49,410.00	\$86.00	\$52,460.00	\$80.00	\$48,800.00	\$95.00	\$57,950.00
1220 Adjust Existing Catch Basin to Finished Grade	1 EA	\$700.00	\$700.00	\$650.00	\$650.00	\$300.00	\$300.00	\$400.00	\$400.00
1225 Adjust Existing Monitoring Well to Finished Grade	3 EA	\$1,550.00	\$4,650.00	\$700.00	\$2,100.00	\$200.00	\$600.00	\$500.00	\$1,500.00
1245 Adjusting Existing Monument, Case and Cover to Finished Gr		\$800.00	\$2,400.00	\$700.00	\$2,100.00	\$300.00	\$900.00	\$500.00	\$1,500.0
1265 Irrigation System Repair	1 FA	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.0
1270 Temporary 6' High Chain Link Fence	1520 LF	\$3.00	\$4,560.00	\$2.25	\$3,420.00	\$2.50	\$3,800.00	\$2.50	\$3,800.0
1290 Install City Supplied Fixed or Removable Bollard	2 EA	\$500.00	\$1,000.00	\$800.00	\$1,600.00	\$500.00	\$1,000.00	\$600.00	\$1,200.0
1299 Bollard Reinstallation	75 EA	\$300.00	\$22,500.00	\$360.00	\$27,000.00	\$300.00	\$22,500.00	\$700.00	\$52,500.00
1300 Paint Line	310 LF	\$3.00	\$930.00	\$7.00	\$2,170.00	\$1.00	\$310.00	\$2.00	\$620.00
1305 Property Restoration	1 LS	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$15,000.00	\$15,000.00
1310 Sod Installation	2420 SY	\$5.00	\$12,100.00	\$6.00	\$14,520.00	\$7.00	\$16,940.00	\$8.00	\$19,360.00
Schedule I			\$286,655.00		\$353,420.00		\$468,560.00		\$392,740.00
9.0% Sales Tax			\$25,798.95		\$31,807.80		\$42,170.40		\$35,346.60
Total Schedule I			\$312,453.95		\$385,227.80		\$510,730.40		\$428,086.60
CHEDULE IV-STORM									
4000 Outlent Works Trash Rack	1 LS	\$370,000.00	\$370,000.00	\$207,000.00	\$207,000.00	\$260,000.00	\$260,000.00	\$40,000.00	\$40,000.00
4005 Outlet Works Trash Rack Retaining Wall	1 LS	\$15,000.00	\$15,000.00	\$62,000.00	\$62,000.00	\$28,000.00	\$28,000.00	\$473,000.00	\$473,000.00
4010 In-Stream Trash Rack	1 LS	\$25,000.00	\$25,000.00	\$46,000.00	\$46,000.00	\$16,000.00	\$16,000.00	\$34,000.00	\$34,000.00
4015 PVC Storm Sewer Pipe, 12 Inch Diameter	90 LF	\$123.00	\$11,070.00	\$120.00	\$10,800.00	\$32.00	\$2,880.00	\$50.00	\$4,500.0
4025 Relief Well System	1 LS	\$47,000.00	\$47,000.00	\$67,000.00	\$67,000.00	\$50,000.00	\$50,000.00	\$43,000.00	\$43,000.0
4080 Catch Basin, Type 1	1 EA	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$900.00	\$900.00	\$900.00	\$900.0
4085 Catch Basin, Type 2 48 Inch Diameter	2 EA	\$7,000.00	\$14,000.00	\$3,700.00	\$7,400.00	\$2,900.00	\$5,800.00	\$5,000.00	\$10,000.0
4110 Solid Locking Catch Basin Frame and Cover	1 EA	\$900.00	\$900.00	\$500.00	\$500.00	\$250.00	\$250.00	\$400.00	\$400.0
4160 Light Loose Riprap	15 TONS	\$77.00	\$1,155.00	\$125.00	\$1,875.00	\$90.00	\$1,350.00	\$60.00	\$900.0
4165 Construction Geotextile for Separation	2,000 SY	\$2.00	\$4,000.00	\$1.50	\$3,000.00	\$2.50	\$5,000.00	\$12.00	\$24,000.0
4170 Pipe Zone Bedding	50 TONS	\$77.00	\$3,850.00	\$32.00	\$1,600.00	\$22.00	\$1,100.00	\$22.00	\$1,100.00

	BIDDER'S NAME AND ADDRESS TOTAL ANTITY UNIT	Road Construction Nor P.O. BOX 188 Renton, WA 9805 UNIT PRICE	thwest, Inc. \$921,405.34 TOTAL	Stouder General Consti 3381 Brown Road Ferndale, WA 98248	ruction, LLC	Rodarte Construction, I P.O.BOX 1875 Auburn, WA 98071	nc.	RW Scott Construction Co. 4005 W. Valley Hwy #A Auburn, WA 98001	
ITEM	ADDRESS TOTAL	Renton, WA 9805						, ,	
	TOTAL			Ferndale, WA 98248		Auburn, WA 98071		IAuburn WA 98001	
		UNIT PRICE						7.42.0, 117. 7000.	
	ANTITY UNIT	UNIT PRICE	TOTAL		\$934,240.09		\$984,377.91		\$1,195,370.30
NO. DESCRIPTION QL	ANTITY UNIT	UNIT PRICE			TOTAL	_	TOTAL		TOTAL
			AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Schedule IV			\$493,475.00		\$410,175.00		\$371,280.00		\$631,800.00
9.0% Sales Tax			\$44,412.75		\$36,915.75		\$33,415.20		\$56,862.00
Total Schedule IV			\$537,887.75		\$447,090.75		\$404,695.20		\$688,662.00
SCHEDULE V - TRAFFIC CONTROL									
5005 Traffic Control Labor	320 HR	\$40.00	\$12,800.00	\$50.00	\$16,000.00	\$41.00	\$13,120.00	\$40.00	\$12,800.00
5015 Traffic Control Supervisor	160 HR	\$40.00	\$6,400.00	\$65.00	\$10,400.00		\$6,560.00	\$40.00	\$6,400.00
5020 Temporary Traffic Control Devices	1 LS	\$9,000.00	\$9,000.00	\$3,000.00	\$3,000.00		\$2,000.00	\$5,000.00	\$5,000.00
Schedule V			\$28,200.00		\$29,400.00		\$21,680.00		\$24,200.00
9.0% Sales Tax			\$2,538.00		\$2,646.00		\$1,951.20		\$2,178.00
Total Schedule V			\$30,738.00		\$32,046.00		\$23,631.20		\$26,378.00
SCHEDULE VII - TESC									
7000 Seeding, Fertilizing, and Mulching	4840 SY	\$0.15	\$726.00	\$0.40	\$1,936.00	\$0.35	\$1,694.00	\$0.50	\$2,420.00
7001 Topsoil Type A	290 CY	\$25.00	\$7,250.00	\$38.00	\$11,020.00	\$35.00	\$10,150.00	\$40.00	\$11,600.00
7005 Filter Fabric Fence	700 LF	\$9.00	\$6,300.00	\$8.00	\$5,600.00	\$4.50	\$3,150.00	\$8.00	\$5,600.00
7010 Straw Bales for Drainage Way Barrier	10 EA	\$55.00	\$550.00	\$70.00	\$700.00	\$49.00	\$490.00	\$15.00	\$150.00
7015 Inlet Protection	3 EA	\$90.00	\$270.00	\$300.00	\$900.00	\$65.00	\$195.00	\$70.00	\$210.00
7020 Straw Mulch	3000 SY	\$0.50	\$1,500.00	\$0.20	\$600.00	\$0.20	\$600.00	\$1.00	\$3,000.00
7025 Clear Plastic Covering	3000 SY	\$0.50	\$1,500.00	\$2.00	\$6,000.00	\$3.00	\$9,000.00	\$1.75	\$5,250.00
7030 ESC Lead	40 DAY	\$50.00	\$2,000.00	\$500.00	\$20,000.00	\$40.00	\$1,600.00	\$100.00	\$4,000.00
7035 Temporary Sediment Trap	1 LS	\$4,500.00	\$4,500.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
7045 Geotextile Encased Check Dam	20 LF	\$55.00	\$1,100.00	\$70.00	\$1,400.00	\$30.00	\$600.00	\$100.00	\$2,000.00
7050 Turf Mat Reinforecement	1400 SY	\$7.00	\$9,800.00	\$8.75	\$12,250.00		\$12,600.00	\$8.00	\$11,200.00
7060 Temporary Erosion and Sediment Control (TESC) Plan	1 LS	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
Schedule VII			\$36,996.00		\$64,106.00		\$41,579.00		\$47,930.00
9.0% Sales Tax			\$3,329.64		\$5,769.54		\$3,742.11		\$4,313.70
Total Schedule VII			\$40,325.64		\$69,875.54		\$45,321.11		\$52,243.70
CCUEDINE L. Stroot			¢212.452.05		¢20E 227 22		¢E10 720 40		¢428.007.70
SCHEDULE I - Street SCHEDULE IV - Storm			\$312,453.95 \$537,887.75		\$385,227.80 \$447,090.75		\$510,730.40 \$404,695.20		\$428,086.60 \$688,662.00
SCHEDULE IV - Storm SCHEDULE V- Traffic Control			\$537,887.75		\$447,090.75		\$404,695.20		\$688,662.00
SCHEDULE VII- TESC			\$40,325.64		\$32,046.00 \$69,875.54		\$45,321.11		\$52,243.70
CONSTRUCTION CONTRACT TOTAL			\$921,405.34		\$934,240.09		\$984,377.91		\$1,195,370.30
GRAND TOTAL			\$921,405.34		\$934,240.09		\$984,377.91		\$1,195,370.30

CITYO					
	orks Park Dam Improvements		DDER'S	Toby Hallock	
BID OP	PENING: Tues., April 22, 2008		AME AND		
		AΓ	DRESS		
		TC	TAL		\$791,823.42
ITEM					TOTAL
NO.	DESCRIPTION QU.	ANTITY	UNIT	UNIT PRICE	AMOUNT
COLIEDI	ULE L. CIDEET				
	ULE I - STREET OO Mobilization		1 LS	\$47,000,00	¢47,000,00
			1 LS 1 LS	\$47,990.00	\$47,990.00 \$7,590.00
	05 Clearing and Grubbing 06 Removal of Structures and Obstructions			\$7,590.00	\$6,325.00
			1 LS 1850 SY	\$6,325.00 \$10.00	\$18,500.00
	10 Remove Existing Asphalt Concrete Pavement		70 LF	\$10.00	\$1,925.00
	50 Saw Cut Existing Asphalt Concrete Pavement 65 Embankment Fill, Including Haul		70 LF 1120 CY	\$48.00	\$53,760.00
	66 Special Embankment Fill Including Haul		300 CY	\$36.00	\$10,800.00
	70 Embankment Compaction		1420 CY	\$4.00	\$5,680.00
	75 Gravel Borrow, Including Haul and Compaction		1420 CY 15 TONS	\$28.00	\$5,680.00
	85 Crushed Surfacnig Base Course, 1 1/4 Inch Minus		620 TONS	\$35.00	\$21,700.00
	95 HMA Class 3/4", PG 64-22		610 TONS	\$137.50	\$83,875.00
	20 Adjust Existing Catch Basin to Finished Grade		1 EA	\$550.00	\$550.00
	25 Adjust Existing Monitoring Well to Finished Grade		3 EA	\$440.00	\$1,320.00
	45 Adjusting Existing Monument, Case and Cover to Finish	ned Grade	3 EA	\$330.00	\$990.00
	65 Irrigation System Repair	ica Grade	1 FA	\$45,000.00	\$45,000.00
	70 Temporary 6' High Chain Link Fence		1520 LF	\$2.25	\$3,420.00
	90 Install City Supplied Fixed or Removable Bollard		2 EA	\$500.00	\$1,000.00
	99 Bollard Reinstallation		75 EA	\$300.00	\$22,500.00
	00 Paint Line		310 LF	\$5.50	\$1,705.00
	05 Property Restoration		1 LS	\$5,000.00	\$5,000.00
	10 Sod Installation		2420 SY	\$9.00	\$21,780.00
					+0/4 000 00
	Schedule I				\$361,830.00
	9.0% Sales Tax				\$32,564.70
	Total Schedule I				\$394,394.70
SCHED	ULE IV-STORM				
400	00 Outlent Works Trash Rack		1 LS	\$108,900.00	\$108,900.00
400	05 Outlet Works Trash Rack Retaining Wall		1 LS	\$17,600.00	\$17,600.00
40	10 In-Stream Trash Rack		1 LS	\$10,230.00	\$10,230.00
40	15 PVC Storm Sewer Pipe, 12 Inch Diameter		90 LF	\$43.50	\$3,915.00
402	25 Relief Well System		1 LS	\$73,510.00	\$73,510.00
408	80 Catch Basin, Type 1		1 EA	\$1,650.00	\$1,650.00
408	85 Catch Basin, Type 2 48 Inch Diameter		2 EA	\$4,290.00	\$8,580.00
41	10 Solid Locking Catch Basin Frame and Cover		1 EA	\$440.00	\$440.00
416	60 Light Loose Riprap		15 TONS	\$35.00	\$525.00
416	65 Construction Geotextile for Separation		2,000 SY	\$16.50	\$33,000.00
41	70 Pipe Zone Bedding		50 TONS	\$21.67	\$1,083.50

сіту оғ	WENT			ı	
	rks Park Dam Improvements		BIDDER'S	Toby Hallock	
	:NING: Tues., April 22, 2008		NAME AND	Toby Hallock	
BID OF	.WING. Tues., April 22, 2006		ADDRESS		
			ADDICESS		
			TOTAL		\$791,823.42
ITEM	BECODIETION.				TOTA
NO.	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUN
	Schedule IV				\$259,433.50
	9.0% Sales Tax				\$23,349.02
	Total Schedule IV				\$282,782.52
CHEDI	LE V - TRAFFIC CONTROL				
	5 Traffic Control Labor		320 HR	\$50.00	\$16,000.00
	5 Traffic Control Supervisor		160 HR	\$75.00	\$12,000.00
	Temporary Traffic Control Devices		1 LS	\$3,500.00	\$3,500.00
552			. 20	+5,555.55	- 2,233.00
	Schedule V				\$31,500.00
	9.0% Sales Tax				\$2,835.00
	Total Schedule V				\$34,335.00
CHEDU	LE VII - TESC				
700	O Seeding, Fertilizing, and Mulching		4840 SY	\$2.50	\$12,100.00
700	1 Topsoil Type A		290 CY	\$50.00	\$14,500.00
700	5 Filter Fabric Fence		700 LF	\$4.50	\$3,150.00
701	O Straw Bales for Drainage Way Barrier		10 EA	\$10.00	\$100.00
701	5 Inlet Protection		3 EA	\$110.00	\$330.00
702	O Straw Mulch		3000 SY	\$2.50	\$7,500.00
702	5 Clear Plastic Covering		3000 SY	\$1.50	\$4,500.00
703	D ESC Lead		40 DAY	\$125.00	\$5,000.00
703	5 Temporary Sediment Trap		1 LS	\$1,500.00	\$1,500.00
704	5 Geotextile Encased Check Dam		20 LF	\$50.00	\$1,000.00
705	O Turf Mat Reinforecement		1400 SY	\$15.00	\$21,000.00
706	O Temporary Erosion and Sediment Control (TESC) Plants	an	1 LS	\$3,000.00	\$3,000.00
	Schedule VII				\$73,680.00
	9.0% Sales Tax				\$6,631.20
	Total Schedule VII				\$80,311.20
	SCHEDULE I - Street				\$394,394.70
	SCHEDULE IV - Street				\$282,782.52
	SCHEDULE V - Storm SCHEDULE V - Traffic Control				\$34,335.00
	SCHEDULE VII- TESC				\$80,311.20
	SOUPPOPE ALL AND A SOUPPOPE AND A SOUPPOP A SOUPPOP AND A SOUPP A SOUPP A SOUPP AND A SOUPP A SOUPP AND A SOUPP A SOUPP A SOUPP A				φυυ, σ ι ι . 20
CONSTR	UCTION CONTRACT TOTAL				\$791,823.42
GRAND	TOTAL				\$791,823.42